1 2 | 3 4 5 6 7 8
DWE-NO- 77020801
AE. A1000YU—ZAF TY-ZHEOBERZ Py FAV NS B0
(=92 =y NS POy FANBIT FIEERL 7.
ARDEALEDIE
1. A8 BE1A—Y) +85 (1 0X—Y) D1 1 BHEHTES
2. ARABECELTYESE. CHEMEOHELTBC .
(18I ®EOED. "ELAEL. )
ANZEERE L CBERA Yy FAIUNCHRG L CEETD
1. 2~5, 1~10MBDA3X 2BA%BA 4x 182 (KB ) 20 ( 50% ) &L
6,1 18EMA3X 18A%A 4x 1 BAZEN ( 70%) T2,
2. EEOESCEE@IC-L. 18T
ssho s s
(1/10N—§)‘\ - ,‘(3/10N_9)H ﬂ(5/1ox—9)
(6/10&—9)‘ : ” ” /‘(8/10N—j)g ‘(10/1ON—9)
a I /| | |
o [ /o U "
P Y A ' | !
(2/10K-9) \ S : C(4710R=Y) ) I
(7/10K=9) | : I [ Tearon-sni A
N I /] | “’
) N I | :
v T T | ;,r
v i P (.
| AT i 4
\oadl 11 A/ i; ¢
v (T | |
O o ] -/ |
V] ¥ / | |
I Y [
BEAE: 6/108-IA510/10K—IBi
% @ S YASKAWA DRAW. |JSep.05.2008 H.Soi’r§ TITLE AT0O00 =X DWG . NO. REV.
« CHECK |9¢p.08.2008| M.Sakai |-----—------------- e EZZOZO801 —@
1 | 2 | 3 | 1 5 | 6 | 7 | 8




ARE ATO00YU=ZANE [F=XNDDESBRZ 7Ty FAINEIRT bR
1IN =AYy NTR Py FAVNBNT FIRZR L E T,

[ W95 ]
CIMR-ADZ2ZA0004~0081,0169~0211,0250~0415
CIMR-AB4A0002~0058,0088,0103,01T62~0515

(CIMR-AD2A0110,0138%RUCIMR-AC4A0072,01391
F1EME. BRRITAX BREY FARUTHIEHP Iy FAVNGRRTT. )

) 3/5, 41 SNEDTESRZ Iy FAIYNBFITITEI DFIRIZKD.
POy FAINERWF 22T, b TBRETAZRALIZ Y hRENTEET,

Py FAIVNREFEO /=917y hE Py FAINBREFREOL >/ =Y 1=y hDE Py FAINRRIEQA >\ =Y 1=y N E
(TEEC IMR-AD2A0030 BARNHORTHALTET) (TREFC IMR-AO2A0081 EH#sEARORTHALTET ) (TREC IMR-AD4A0515 BREIFORTHAL TLET )
W1 . 6 -DMBER

—

. 4R 4 - MBRIR : \ /
ﬁ - 4 " E d
(T — I ‘ e —— i

© /[ an

H1

| | i D — |
E— ~— CIIL_ ‘=d E: <=
8 9|
! C:I\:l aa, ) E%E ® m_ E1
W D ‘ 1 LW ‘ o
W D W1 | -
w D

Dwg. No. £E77020801-1/10



Py FAINRATTE-E

PR (NEMA T ) BRI [ POO)
1IN
W W1 H H H? D M W W1 We W3 H H1 H? D M
CIMR-AD2A0004
0006
0008 | 140 | 126 | 280 | 266 6 157 | M5 | % - - 8 %
0010
0012
CIMR-AGZAOLIS | 140 | 126 | 280 | 266 6 174 | M5 B % - - B %
CIMR-AD2A0030 | 140 | 126 | 280 | 266 6 177 | M5 A x - - 8 %
CIMR-AD2A0040 | 200 | 186 | 300 | 285 6 177 | M6 |z - - B %
CIMR-AD2A0056 | 200 | 186 | 300 | 285 8 197 | M6 A % - - B %
CIMR-AD2A0069 | 240 | 216 | 350 | 335 8 207 | M6 A x - - 8 %
CIMR-AD2A0081 | 240 | 216 | 365 | 335 8 207 | M6 240 | 216 - - 350 | 335 8 207 M6
CIMR-ADZADTOD | 329 | 250 | 765 | 575 |177.5| 283 | Mi0 | 325 | 250 - - 600 | 575 | 12.5 | 283 | M10
CIMR-AOZAD S 150 | 325 - - 725 | 700 | 12.5 | 330 | M10
CIMR-AD2A0360 500 | 370 - - 850 | 820 13 | 350 | M12
CIMR-AD2A0415 500 | 445 - - 885 | 855 13 | 350 | M12
CIMR-AD4A0002
0004 | 140 | 126 | 280 | 266 6 157 | M5 | % - - 8 %
0005
CIMR-ADAA000]
0009 | 140 | 126 | 280 | 266 6 174 | M5 A % - - 8 %
CIMR-ADAAQ018 | 140 | 126 | 280 | 266 6 177 | M5 A x - - 8 %
CIMR-AD4A0023 | 200 | 186 | 300 | 285 6 177 | M6 A % - - B %
CIMR-ACAA0031 | 200 | 186 | 300 | 285 8 177 | M6 A x - - 8 %
CIMR-ADAA0038 | 240 | 216 | 350 | 335 8 197 | M6 |z - - A8 %
CIMR-ADAA0044 | 240 | 216 | 350 | 335 8 207 | M6 A % - - 8 %
CIMR-ADAA0058 | 260 | 220 | 514 | 435 | 71.9 | 258 | M6 260 | 220 - - 150 | 435 | 7.5 | 258 | M6
CIMR-AD4A0088 | 329 | 260 | 630 | 535 | 86.2 | 258 | M6 325 | 260 - - 550 | 535 | 7.5 | 258 | M6
CIMR-ADAA0103 | 329 | 260 | 670 | 535 | 127.5| 258 | M6 325 | 260 - - 550 | 535 | 7.5 | 258 | M6
CIMR-AD4A0165 | 359 | 325 | 900 | 700 | 187.5| 303 | M10 | 359 | 325 - - 725 | 700 | 12.5 | 303 | M0
CIMR-ADAA0208 150 | 325 - - 725 | 700 | 12.5 | 330 | Mo
C'MR'ADAAgggg 500 | 370 - - 850 | 820 13 350 | M12
CIMR-AD4A0362 500 | 445 - - 885 | 855 13 | 350 | M12
CIMR-AD4AQ41 4 629 | 540 | 240 | 270 | 1305 | 1270 | 13 | 370 | M12
CIMR-ADAA0515 675 | 540 | 240 | 270 | 1305 | 1270 | 15 | 370 | M12

Dwg. No. £77020801-2/10



1

(A8 CIMR-AO2A0012 FRessr ONTHIAL TG,

BIRZ 7Sy FA NI A -

)

A NS DEER T RBIZ PIy FAUNAELTED
M5x16FAQU+ S + WIZTERET TS,

ST

x4)

(

MSXT16FR1U+S+W

PAYFAINA

Dwg. No. £77020801-3/10



BRZ Py FAYNRNT A - £

(A8iE. CIMR-AO4A0058 FasseEy ORTHBLTL\ET,
| POOMBARLES. T&H/ \—HHDEE)

ANy NEDEER T BZIRO L.
Py FAINBRBA , BERORMFTTE

H1B(1C KOREDN VT 23 AT D%
BOFT. (LS /1 ON—I=gRLT<EE)

BERURERSRDCE
RERIT EEEALL

TEA/ =

Py FAINA
&A1 —

RERI EEERLL

NEMA1T TYPEOAYN—91Zy MEZRICERDMGT DB
NEMA1H\=ZBO%L T RUHL TESL,

. CIMR-AT4A0088%EICIRONT RIS
RIDEER7 AR N AL TESI,

SR

Afl

NEMAT2/—

it

BRZ Py FAYNRUTIE - 3

APZA i B f§ QU
CIMR-ACZADIEY | M6x1 47naae s+ (x2)
CIMR-ADZA0250 | M10X20MLh+S(x2)

0312 | M10993%(x2)
MT0Ox20MILN+S(x2)
CIMR-An2a0360 | MTINEOTLEES I
MT0Ox20MLN+S(x2)
CIMR-Ao2A0415 | MTOXEOTLESS S
CIMR-ADAA0058 | M6X147NBL+S+W(x2)
CIMR-AD4A0088
CIMR-ADAADDBS |6 x1 4rmiaies s (x2)
M1 0X 20/ +S (x2)
CIMR-Aoan0208 | M1EXCOTLESSD
CIMR-ADAAO250 | M10X20Mk+S(x2)
0296 | M10Dy3w(x2)

) MTOX20MRILN+S(x2)
CIMR-Ao4p0362 | MTOXEDTLE TS
CIMR-AD4AO41 4
CIMR-ADAAD515

(A™iF. CIMR-AO4A0165 FEisEeEd DRTHELTGFT.
[ PO0DBERLES. T&BH/\—HbpDEFEN )

BC Py FAINEROMT ET. ZDBIZ1 /=91y NAR%E
TBOMO X 167U S +WIZT. Py FAYNZROMITTTE
NEMAT TYPE®7IIN\—91=y ~"AKZEEZIONT 2B
NEMA1AN—ZEROL T, RUEHL TEEL,

MEXT6FARUS+W (X2 )

MEX16FARUS+W(x2)

NEMA12/=

Py FAINA
KA Py FAINZREC DT TS0,

P27 QN ARV

CIMR-AD4A0165 | M6X16F3RRU+S+W(x4)

Dwg. No. £77020801-4/10



PIyFAINI-RNES—F

1IN =9 FEREI-N #HEI-K 5 & & NV AR B 5% B =
” " PIYFAIN ’ "
CIMR-AD2A0004
0006
0008
o 100-047-230 | 72606-E22020801A SPAT35357-A(x2) M5x16F/0L+S +W(x4)
0018
0021
0030
CIMR-AD2A0040 100-047-231 | 12606-£220208018 SPAT35358-1(x2) M5 167ABU+S +W (x4)
CIMR-AD2A0056 100-047-232 | 12606-E£22020801C SPAT35359-A(x2) M5 167 ABU+S +W (X4)
CIMR-AGEADDEY | 100-047-234 | 72606-E27020801E SPAT35361-A(x2) X T677ALH S+ (x4) | NEMAT 1P00CH
CIMR-AD4A0002 F=P Sy FAINERH
0004
0005
0007 100-047-230 | 72606-E£22020801A SPAT35357-1(x2) M5x16FAREHS W (x4)
0009
0011
0018
CIMR-ADAAQ023 |  100-047-231 | 12606-E270208018 SPAT35358-1(x2) M5x167~@L+S I (x4)
CIMR-AD4AQ0 3] 100-047-232 | 12606-E22020801C SPAT35359-A(x2) M5x167~aL+S I (x4)
CIMR-AD4A0038 | 100-047-233 | 12606-£27020801D SPAT35360-1(x2) M5x167~@L+S I (x4)
CIMR-AD4A0044 | 100-047-234 | 72606-E27020801F SPAT35361-A(x2) M6x167~AL+S I (xX4)
B G &
AN 7 FEREI-R TN Rt N PIYvFAINA Py FAINB ;' AR BT fm 2
(NWHPYHT) (NWYH PV )
CIMR-AD2A0169 - ] i ] . NEMAT 1P00H
0o 100-048-118 | 12606-£22020801F | BMDT41091-1 BMDT41092-1 | M6x147AKBU+S+W(x2) N oo
CIMR-AG2A0250 o ] ] o MT0X20RLN+S (x2)
hel 100-051-153 | 72606-£22020801L | BMDT41097-1 BEERA freomuh s
CIMR-AD2A0360 100-051-154 | 72606-£22020801M | BMDT41098-1 BEARA M oxc o s iye) | PO ORPIYFA
_ B ) ) ) . MTOX20RILN+S (x2)
CIMR-AD2A0415 | 100-051-155 | 72606-E£27020801N | BMDT41099-1 BMDT 411001 AR
CIMR-AD4AQ058 | 100-048-119 | 72606-£22020801G | BMDT41088-1 BMDTA1089-1 | MBxT4F7RBU+S+W(x2) N hues
CIMR-AD4A0088 | 100-048-120 | 72606-£22020801H BEERA BMDT 410931 - : NEMA 1 RPSY A
| POOAPIY FAIN
CIMR-AQARODEE | 100-048-121 | 72606-£22020801J | BMDT41090-1 BaERE M6 X1 4FRBU+S HW (X2 ) NEMAT . 1P00CE
=75y FAINZGEH
] o ] ] o MT0X20ALN+S (x2)
CIMR-AD4A0208 | 100-051-153 | 72606-£27020801L | BMDT41097-1 B fremun s
CIMR-AG4A0250 o MT0X2 0L+ S (x2)
heae 100-051-154 | 72606-£22020801M | BMDT41098-1 BEERA fremun s
M10X20RLI+S (x2) | POORPSyFAIN
CIMR-ADAAO36? 100-051-155 | 72606-£22020801N | BMDT41099-1 BMDT 411001 AU
CIMR-ADAAO4T4 |  100-062-537 | 12606-E22020801P | BMDT31019-A BMDT 411541 -
CIMR-AD4A0515 | 100-062-538 | 12606-£770208010 | BMDT31020-A BMDT41155- 1 -
CIMR-AD4AO165 | 100-048-122 | 72606-E£27020801K | SPAT35367-A BEARA MBXT6FAMLHS +W (x4) 3 N e

Dwg. No. £E/77020801-5/10



This drawing shows the inverter unit dimensions and aftfachment mounting procedures
when replacing the F7 drive with the A1000 drive and the replacement attachment.

[Subject Models]
CIMR-ADZ2A0004~0081,0169~0211,0250~0415
CIMR-AD4A0002~0058,0088,0103,0165~0515

(The replacement attachment is not required when replacing the F7 with the following A1000 models because the dimensions,
installation screw sizes and mounting dimensions are the same: CIMR-ADZ2A0110, 2A0138, and CIMR-AOD4A0072, 4A0139.)

Note: Follow the procedure in "Replacement Attachment Mounting Method" on page 8/10 and page 9/710
to install the A1000 drive, using the mounting holes for the FT7 drive.

lnverter Unit Dimensions During Inverter Unit Dimensions During L?ier;er ?nQ+ Dlmen5|ons during
Attachment Mounting Attachment Mounting e | |
(Mounting holes and outline dimensions Mounting holes and outline dimensions ?g?nigng?gégsd??aeo?;L;E: ?Eggns'ons
for the A1000 drive iin the P00 for the A1000 drive in the NEMA type 1 enclosure. (Model: CIMR-ADAAO515)
enclosure. (Model: CIMR-ADZA0030) enclosure. (Model: CIMR-AD2A0081) ' '
W1 ., Mounting Hole for 6-¢M
w2
Mounting Hole for 4-¢M Mounting Hole for 4-¢M # # 4!%

:g 1 Tg— | qj % 7 e | [ 4///

d
m Bl 0 l_;ﬂ ) L M
- i
il oo T = I{illl g = i
1l Il ..
H | i | .
\ i 0 Ha ] o [a o o
x h . ] i & ) — {v i il ' j [ HHH
— — ] =4 =] Sle e
- ow > A — e — B
W D ‘ Wi w3 ‘ ~
! : Wvv1 A D

Dwg. No. £//7020801-6/10



Replacement Attachment Mounting Dimensions

NEMA type 1 Enclosure IPOO Enclosure
Inverter Model
W Wi H H1 HP D M W Wi W2 W3 H H1 H? D M
CIMR-AO2A0004
0006
0008 | 140 | 126 | 280 | 266 6 157 M5 ¥ - - £
0010
0012
C'MR'AD2A88;§ 140 | 126 | 280 | 266 6 174 M5 ¥ - - Y1
CIMR-AD2A0030 | 140 | 126 | 280 | 266 6 177 M5 Y1 - - Y
CIMR-AD2A0040 | 200 | 186 | 300 | 285 6 177 M6 ¥ - - Y
CIMR-AD2A0056 | 200 | 186 | 300 | 285 8 197 M6 Y1 - - Y
CIMR-AD2A0069 | 240 | 216 | 350 | 335 8 207 M6 ¥ - - Y
CIMR-AD2A0081 | 240 | 216 | 365 | 335 8 207 M6 200 | 216 - - 350 | 335 8 207 M6
C'MR'A”2A8;$$ 329 | 250 | 765 | 575 |177.5| 283 | Mi0 | 325 | 250 - - 600 | 575 | 12.5 | 283 | M10
C'MR'ADZAggﬁg 150 | 325 - - 725 | 700 | 12.5 | 330 | M10
CIMR-AD2A0360 500 | 370 - - 850 | 820 13 350 | M12
CIMR-AD2A0415 500 | 445 - - 885 | 855 13 350 | M12
CIMR-AD4A0002
0004 | 140 | 126 | 280 | 266 6 157 M5 ¥ - - £
0005
CIMR-AO2A0007
0009 | 140 | 126 | 280 | 266 6 174 M5 ¥ - - £
0011
CIMR-ADAA0018 | 140 | 126 | 280 | 266 6 177 M5 ¥ - - Y
CIMR-AD4A0023 | 200 | 186 | 300 | 285 6 177 M6 ¥ - - Y
CIMR-AD4A0031 | 200 | 186 | 300 | 285 8 177 M6 ¥ — — Y
CIMR-AD4A0038 | 240 | 216 | 350 | 335 8 197 M6 ¥ - - Y
CIMR-AD4A0044 | 240 | 216 | 350 | 335 8 207 M6 Y1 - - Y
CIMR-ADAA0058 | 260 | 220 | 514 | 435 | 71.9 | 258 M6 260 | 220 - - 150 | 435 | 1.5 | 258 M6
CIMR-AD4A0088 | 329 | 260 | 630 | 535 | 86.2 | 258 M6 325 | 260 - - 550 | 535 | 7.5 | 258 M6
CIMR-ADAA0T03 | 329 | 260 | 670 | 535 |127.5| 258 M6 325 | 260 - - 550 | 535 | 7.5 | 258 M6
CIMR-AD4A0T65 | 359 | 325 | 900 | 700 |187.5| 303 | M10 | 359 | 325 - - 725 | 100 | 12.5 | 303 | M10
CIMR-AD4A0208 150 | 325 - - 725 | 100 | 12.5 | 330 | M10
CIMR-AGARD DY 500 | 370 - - 850 | 820 | 13 | 350 | M12
CIMR-AD4A0362 500 | 445 — - 885 | 855 13 350 | M12
CIMR-AD4A041 4 629 | 540 | 240 | 270 | 1305 | 1270 | 13 370 | M12
CIMR-AD4A0515 675 | 540 | 240 | 270 | 1305 | 1270 | 15 370 | M12

¥1 Dimensions for the IP00 enclosure are the same as NEMA type 1. Dwg. No. £E//7020801-7/10



Replacement Attachment Mounting Method-

(These drawings describe a case of the CIMR-AO2A0012 (NEMA type 1 enclosure).

Mount attachment A to the standard mounting leg on the
inverter using the M> x 16 pan-head screws + § + W,

Completion Diagram

M5X16 pan-head screwst+tS+W(x4)

|

®
S %@

S

PR e

==

0

Attachment A

Dwg. No. £/7020801-8/10



Replacement Atftachment Mounting Method-2

(These drawings describe a case of the CIMR-AD4A0058 NEMA type
installation do not have a top or bottom cover.)

enclosure. Drives with an [P0OO

Remove the standard mounting legs on the bottom and the top of the drive, and

install replacement attachments A and B.
leg.

attachment for the mounting

Attachment A

(For more information,

See the table on the

Some models do not require o replacement
see page 10/10.)

right for mounting screws.

the mounting leg

Screws for securing

Standard
mounting

leg

Replacement Attachment Mounting Method-3

(These drawings describe a case of the CIMR- AD4A0165 NEMA
type 1 enclosure. Drives with an [P00 Installation do not
have a top or bottom cover.)

Start by affixing the attachment to the wall. Next
mount the A1000 to the attachment using the M6 x 16
pan-head screws + S + W included with the replacement
attachment. When mounting a NEMA type 1 enclosure to «a
wall, remove the NEMA type 1 cover and then tighten
the installation screws to mount the drive on the
attachment. Reattach the NEMA type 1 cover.

M6X16 pan-head
screws S+W(x2)

MEx16 pan-head

screws S+HW(x?2)

NEMA type
1 cover

Inverter Model Mounting Screws
CIMR-ABZACTEY IM6x14 pan-head screws+SHN(x2)|
CIMR-AD2A0250 M10x20 bolts+S(x2)
0312 M10 washer (x2)
CIMR-AD?A0360 M1M01><02 Owobsohle’rrsv’r(SX(ZX)Z)
Top cover
CIMR-AD2A0415 M10x20 bolts+S(x2)
Attach B M10 washer (x2)
Cians d‘“ me:_ L CIMR-ADAA0058 [M6XT4 pan-head screws+SHH(x2) |-
andard mounting leg CIMR-ADAA0088 -
Screws for securing the mounting leg C|MR'AD4A0?§§ M6x14 pan-head screws+SHI(x2)
When mounting the NEMA type 1 enclosure to «a M10x20 bolts+S(x2) |
wall, remove the NEMA type 1 cover and then CIMR-AO4A0208 M10 washer (x2)
tighten the installation screws to mount the CIMR-AO4A0250 M10X20 bolts+S(x2)
drive. Reattach the NEMA type 1 cover. 0296 M10 washer (x?)
) M10x20 bolts+S(x2)
CINR-AD4A0 362 M10 washer (x2)
Completion Diagram CIMR-AD4A0414 -
CIMR-AD4A0515
NEMA type 1 cover
Top side
Bottom side

Attachment A
First mount the attachment to the wall.

Inverter Model Mounting Screws

l

CIMR-AD4A0165 [M6X16 pan-head screws+S+W(x4)

Completion Diagram

£EZ7020801-9/10



Attochment Code Number List
Inverter Model Order Code Product Code Parts Code Mounting Screws Mount ing Remarks
Attachment Method
CIMR-AD2A0004
0006
0008
0015 | 100-047-230 | 72606-E72020801A |  SPAT35357-A(x2)  |M5x16 pan-head screws+S#W(xd)
0018
0021
0030
CIMR-AD2A0040 | 100-047-231 | 72606-£70208018 SPAT35358-1(x2)  M5x16 pan-head screws+SHi(xd)
CIMR-AD2A0056 | 100-047-232 | 12606-E27020801C SPAT35359-A(x2)  M5x16 pan-head screws+SHW(x4)
CIMR-AGZAODES | 100-047-234 | 72606-£22020801E SPAT35361-A(x2)  MSx16 pan-head screwssSHbO)| y
CIMR-AO4A0002
0004
0005
0007 | 100-047-230 | 72606-E77020801A SPAT35357-1(x2)  M5x16 pan-head screws+S+H(x4)
0009
0011
0018
CIMR-AO4A0023 | 100-047-231 | 12606-£E27020801B SPAT35358-1(x2)  M5x16 pan-head screws+SHi(x4)
CIMR-AD4A0031 100-047-232 | 12606-£27020801C SPAT35359-A(x2)  M5x16 pan-head screwstSHl(x4)
CIMR-AD4A0038 | 100-047-233 | 12606-£27020801D SPAT35360-1(x2)  M5x16 pan-head screwstSHl(x4)
CIMR-ADAA0044 | 100-047-234 | 12606-EZ7020801F SPAT35361-A(x2)  M5x16 pan-head screwstSHl(x4)
Parts Code Mount i
Inverter Model Order Code Product Code Attachment A Attachment B Mounting Screws aunting Remarks
. . Method
(top mounting leg) |(bottom mounting leg)
CIMR-ADZABIED | 100-048-118 | 72606-E22020801F BMDT 41091 -1 BMDT41092-1  M6x14 pan-head screws+S+H(x2) 1
CIMR-AD2A0250 o ] ] . MT0x20 bo Lfs+S(x2)
0317 100-051-153 12606-E77020801L BMDT41097-1 No attachment required M10 washer (x2)
CIMR-AD2A0360 | 100-051-154 | 72606-E27020801M |  BMDT41098-1 o aftachment required| "1 py&0 bolfstafus) Attachment for P00 installation
CIMR-AD2A0415 |  100-051-155 | 72606-EZ7020801N |  BMDT41099-1 BMDT41100-1 M10x20 bolts+5(xz)
M10 washer(x2)
CIMR-AD4A0058 | 100-048-119 | 72606-E270208016 BMDT41088-1 BMDT41089-1  M6x14 pan-head screws+S+H(x2) 1
CIMR-AO4A0088 100-048-120 12606-E7/020801H |No attachment required BMDT41093-1 - ) Attachment for NEMA type 1 installation
Attachment for IPOO installation
CIMR-AQAAODES 1 100-048-121 | 72606-E22020801J |  BMDT41090-1  |No affochment required M6xTd pan-head screws+S#W(x2) .
CIMR-AD4A0208 | 100-051-153 | 72606-E72020801L |  BMDT41097-1  |No atfachment required| ' X80 bolissdine)
CIMR-ADAAOZO0 | 440_051-154 | 72606-E27020801M |  BMDT41098-1  |No atfachment required M10x20 boltst3(x2)
0296 M10 washer (x2) | |
M10X20 bOHS’fS(XZ) Attachment for P00 installation
CIMR-AO4A0362 | 100-051-155 | 72606-E27020801N BMDT41099- 1 BMDT41100-1 pen bollsiad)
CIMR-AD4AO4T4 | 100-062-531 | 12606-£27020801P BMDT31019-A BMDT41154-1 -
CIMR-AD4A0515 | 100-062-538 | 12606-E270208010 | BMDT31020-A BMDT41155- 1 -
CIMR-AO4A0165 100-048-122 12606-£E72020801K SPAT35367-A No attachment required Mox16 pan-head screws+S+W(x4) 3 %

¥1 Both NEMA type 1 and

P00

installations use the

same aftachmen

t.

Dwg. No. £/77020801-10/10



